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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A.B,C &D to each
question are given.Which answer You consider correct, fill the corresponding circie A,B,C or D given in front of each
question with Marker or pen ink on e answer sheet provided.

1.1. The measure which detemines th middle most observation in a data set is called: -q..!:ﬂ.dfz_a»&t,-,u AT AN

2.

10.

12.

13.

14,

15.

(A) median - (B) mo 83l (C) mean L (D) range =
seccot & s equal to: -eszsectcoté
1
sin¢ cosé -—
(A) B) © sin@ (©) cos@

- Right bisectors of the chord of a circle alwayg pass through the: S LIV A
(A) radius (/1ss (B) centre ?} (C) diameter & (D) circumference ks
Tangents drawn at the ends of diameter of a circle a to each other: -L,Ez.n--_._u:ﬂfbrvévﬁ_:;uyé}ff_;}b 4
(A) parallel (i (B) perpendicular s (C) non parallel djl:‘—",:‘ (D) collinear B

- The semi circumference and the diameter of a circle both\subtend a central angle of: - bl /9 Kbsidl o s 5
(A) 90° (8) 360° ¢) 270° (D) 180°

. Angle inscribed in semi circle is: e Wiy e o id 6

T T i3
(A) 7 (8) 5 €) g o)y
How many common tangents can be drawn for two touching ckcles? St 2L 2 b1/’ BT L e nZ S 7
(A) 2 (B) 4 (C) 3 D) 5
i -I ionax? +bx+c =0 5 s 2 axt +b =0

The number of terms in a standard quadratic equation (4 ; _c‘...-wgfurb,j ax +0x+c=0 i3 8
(A) 1 (B) 2 (C) 3 (D) 4
Roots of the equation 4x? —dx+1 are; ..qnfmf. 4x* —4x+1 =hls .9
(A) real , equal J.ru-&-"’ (B) real, unequal .cf,:tt&? (C) imaginary “X (D) irrational J”L/,-f
t% P are the roots of 7x* —x+4 = Othen 2B s -4l B jun S T - x+4= 0B £ 10

I 7 -4
(A) 7 B) 4 . (€ 5

. Ina proportion a:b::c:d,p and ¢ are called: A1

(A) extremes A4 (B) means %5 (C) third proportional 12" (D)\ fourth proportional -€ 77
u v
—_—=—= k s S — = —= k
It =7 =, then: : Ji12
(A) u =wk’ (B) u=vk’ €) w =k

A fraction in which the degree of numerator is less than the degree of _q_alk-'fxﬂ:;.dﬁd/ LAIGRL S 13
denominator is called:
(A) an equation =i+  (B) an improper fraction “_2ly# (C) properfraction A2l (D) aN identity L'

A set with no element is called: ; -q_rmﬂn; e s 14
(A) subset .:,_»,-6’? (B) empty set ~Lxlb (C) singlton set 2a-f (D) superset <rz
If number of elements in set A is 3 and in set B is 4, then number J;;;Eﬁf;,;.’AxB}mw: Bq;:lsslﬁd'uﬁlum.:rfl 15
of elements in AxB is: e Ostsiad
(A) 3 (B) 4 €7 (D) 12
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Marks: 60 Time:2:10 Hours &£ 2:10:5 60: 7
Section -I 2x18=36 Jio
2. Write short answers of any six parts from the following. 2x6=12 ..q&faglﬁﬁgﬁp!'f?@c_dﬂ;dd%ﬂ .2
1. Define radical equation. | _::,{4 fp(;l;pd;ig i
ii. Write in standard form: xiﬁl +Ixi4 =3 _u"{)fydjl_y/:,blz i
iii. Define synthetic division. _4"_&,/7‘.( "-:J{; it
iv. Discuss the nature of the roots of the eguation. X +6x-1=0 -é@;«fgrlﬁ-fd’uju&;.:u v
v. Find the discriminant of the equation. 9x* -30x+25=0 = aﬂ;i?-:‘#u:fd/'fauu RV
vi. Evaluate: (I — Wi we )? -4.5?:!’”.:,1_; Vi
vii. What is meant by direct variation? etV el vi
viii. it3(4x=35y)=2x=7y find the ratio X: V' _ ha:,i‘r,'iy X1y o 33(4x=5y)=2x=-Ty Ji vii
ix. Find the fourth proportional of 5,8,15. ":_;fF;J-"h,/E'LS‘f_,KS,B,‘IS ix
3. Write short answers of any six parts from the following. 2x6=12 -L{J};’"&gmﬁ"ﬁ,;zlg;Jfa,uddszm 3
i. Define a rational fraction. uﬁf,y/g/’&bt i
ii. Resolve into partial fractions x21~1 ? . _%(J-J{:)fzrfd,'ﬁsr = l“ 1 i
iii. Define intersection of two sets. IS PSEEL Ut i
iv. Find B', if; U={1,2.3,.....10} , B={3,5.8} :ﬁa_,fri}v B v
v. Find a and b, if (a4,b2)=(2,1) Ay b v
vi. Find YxY if Y={-2,1,2} SR i
vii. Define Arithmetic Mean. s Ao i
viii. Find Harmonic Mean for the given data. 12,5,8,4 _q_/(r*}“’ﬁfsluéfﬁécl:fZ:’:.; Vil
ix. Find median: 82,93 86,92,79 -5}}”._,-&,, ix
4- Write short answers of any six parts from the following. 2x6=12 ..L,f/tf/{'-—L‘ﬁﬁ&p'?f{c.(jfa.gﬁdjbu -4
i. What is meant by quadrartal angles? Sl e sl i
i. Convert 25"30" to decimal degrees. _a:,.ff_,f;,?ufdf;,:;lfﬂf 25°30" i
iii. Find @, when: (=45m ; r=25m .ﬁc{p@ o i
iv. What is meant by projection of a point? ?;.;ylfa.:tfwﬁ(éi’- v
v.- Define circle. -&:{-@/%)’b v
vi. What is meant by length of a tangent? vi
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= «{_ﬂ/"d//ccﬁc./u Vil
c,:{.,d /’&:‘;’ &2 viii

vii. Define sector of a circle.

viii. Define cyclic quadrilateral.

ix. The length of the side of a regular pentagon is 5¢m, find its perimeter. _éﬁ”}b%‘jhg_ (SJQJJC%’.LJ‘P’Q{ ix
Section -1II L -'-‘ rs:,..‘a:-

Note: Attempt three questions in all while Q:No.9 is compulsory: 8x3=24 -g.dJUQ/,}Jfr,éL,f/QfaUﬁLanrufj WL
5. {(a) Solve the equation. Jx+3=3x-1 #:_“»,i.(*‘}(:,bu (=) .5
(b) 1% B are the roots.of the equation 4x* -5x+6=0, Sl dx’ = Sx+6=0nl . O S (L)

. ' o + p oty
then find the value Qf 5 a Sl
6. (@) Using theorem of componendo-dividendo find the value of: _é}VQEL,«L/JW!MJf%JPP () .6

Jx+8p? o P _1
\/J.’z+8p2 +\/x2——p1 3
9

(b) Resolve into partial fractions: (x— l)(x+ 2)2 -;ru- j/du (n--')
7. (a) Verify that: (B—4) = B'U A if Si(B-4) =B'UA Sefep () 7
U={1,2,3,4,....10} , 4={1.3.5,7,9} , B= {1,4,7,10}
(b) Find variance. 9.9,8,8,9,8,9,18 - g),f o F (n..a)
8. (a) Prove that (cot@+cosech)(tan 6 ~sin @) = sccl - cosd A{gt () 8
{(b) Circumscribe a circle about a triangle ABC with M BC AR LW A6 tare8 AABC (&)
sides 4B =6cm. BC =3cm andCA = dem - U An 3 6 UL AR
9. Prove that a straight line drawn from the centre of a circle to J(ﬁ;/ﬁi‘,o?)}.-gf;_)?L‘;_jr,",J’a}‘;E
bisect a chord (which is not a diametre) is perpendicular to the chord. _r__"_tmrfg}nb;ﬁ;tlbi./_i;"’“
OR L
Prove that the opposite angles of any quadrilateral inscribed in a circle d/'-'a:&’aﬁ_;:,ﬂ« ey a?J hile s (cfuL-

are supplementary. s
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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
question are given.Which answer you consider correct, fill the coresponding circle A,B,C or D given in front of each
question with Marker or pen ink oR the answer sheet provided.

x' +1 x* +1
1.1, mis: ssugs .{rm 1.4
(A) a proper fraction ~_21s (B) an improper fraction /2l '
(C) an identity =LV (D) a constant term r":rJ‘:"
2. A collection of well-defined distinct objeks is called: _q_ruai----”f b’.?l&; 2
(A) subset Lx (B) powerse\ rsi  (C) set wor (D) emptyset ol
3. The different number of ways to describe a\set is: - JK:I,P'-JUJ:‘.’)J?LL/’:'}E}Q',? 3
(A) 1 (8) 2 ©) 3 () 4
4. A frequency polygon is a of many sides. e " ¥ fJui:’:f,&’LMUl/Efd:ﬁ 4
(A) closed figure ;ﬁxf. (B) rectangle (C) square d/ (D) circle #7b '
5. 20°is equal to: -e41420° 5
{A) 360 (B) 630 (C) 1200 (D) 3600'
6. Radii of a circle are: Sl gLl 6
(A) all equal  sizpU ) double of diameter /e
(C) all un-equal iz ZpUt (D). half of any chord L:Tc_}.‘cfa/
7. Acircle has only one ; = —— Skl e bkl 7
(A) secant Gl (B) chord (C) diameter 5 (D) centre
8. A 4cm long chord subtands a centrai angle of 60° the radial segment of B Hreeblessl ¥ eo“y%mdgm.ﬁ 8
this circle is . 5 IO S
(A) 1cm {B) 2cm (C) 3cm (D) 4cm
9. Acircle passes through the vertices of right angled A A BC with «mAC =3cem UAABCEL., ;ljf;iFJ-( 9
mAC =3cm, mBC = 4dcmand mZC =90° . radius : LUkl et SimsC =90° .3 mBC = dem
of the circle is Y I Vs PoWsdes S
(A) 1.5cm (B) 2.0cm (C) 2.5cm (D) 3.5cm
10. The circumference of a circle is called: - -q..ru,fk_._s‘(‘_}b .10
(A) chord 7 (B) segment (C) boundary ., (D) secant Uik

2 - b1 >
11. The number of terms in given standard quadratic equationis: 4X~ +bx + = 0 _ Ui =l d;L.u&u»uTS; A1

(A) 1 (B) 2 € 3
12. 1f% ,  are the roots of equation,then & + S is: 37 +5x-2=0 _c.matp
5 3 )
(A) 3 ® 3 © 7
3. Sum of cube roots of unity is:
(A) O B) 1 € -1

4 Inaratio g:b, ais called:

(A) relation J""
5. The third proportional of x* and )’ is:

(B) antecedent (i;di (C) consequent ﬁd/»

4

X 2.2 Z,_ =
(A) ® *7 ©) 2 (D) 4

yE
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Marks: 60 ~ Time:2:10 Hours & 2:10:5 60: 7
Section -1 2x18=36 Jilio
2. Write short answers of any six parts from the following. 2x6=12 -Q&faglﬁﬁﬁrlzﬁgcdfaL)’-'-:.ZJE/J: 2
i. Define quadratic equation. SPGB i
ii. Solve by factorization: 5x =15x _L{/U’df.-.gjjy i
iil. Find the discriminant of 25’ = T7x+1=0 U ApasdGh i
Iv. Prove that the sum of the all cube roots of unity is zero. i tx)’;;quﬂl;i?rv“z: JKLQ{/..:/.E v
b | ""1 + "“3— -

v. Find w° if: W= ——2J:— /flu‘f/?}i”'@-{J w? kY
vi. Using synthetic division, show that(x —2) is the €37 +x2 —Tx+2 S/ ELMJ(:’&G i
factorof. x* + x> — 7x + 2 {l_(x—2) L}/"’J'f'.'

vii. Define inverse variation. _q_’f_gﬁgfu?é‘/:"? Vil
viii. Find the third proportional to 6 and 12. 4%:"’.._./61/;(6 12 v
ix. Find x,if:6:x::3:5. _:)_‘/KPX?t’J:x::_?:S/G,ix
3. Write short answers of any six parts from the following. 2x6=12 _q)}f:,glﬁﬁ?&izlgc;diﬁ-_dgb&w 3
i. Define identity. : -e:f-f.yﬁd&‘v i

’ 3 2
X =x"+x+1
ii. Change in proper fraction. T _é:*.i&jui/.,._eb Ji
iii. Define union of sets. B ALt i
v. Find XU and X (Y1 X ={14,7,9}, ¥ ={2,4.5,9) Siegeb XUY A XNY v
v. Define into function. _gbgﬁ&_)‘u'iﬁul v
vi. Find the Range and Domain of "R" if R={(a.b).(b.a),(c.d).(d.e)] S Gt 6 R v
= r -
vii. Define Harmonic Mean. _a_é_aJ/JMU?r(T vii
vili. Find the Median of the given data: 1.9,232527,293.1 Jcﬂ??ﬁ”gth—:é'réé.; Viii
ix. Define variance and write its formuia. -.“:;founﬁfwnlé:@fgf:{} X

B‘Vﬂ-}ﬂ—z -9 !{



4- Write short answers of any six parts from the following. 2x6=12 _q&;’;ugﬁ"’&rzig;.(}faddsan -4

123 ' 2
i. Convert “é“‘ into degree. ng&iufdfjf_g‘ i
ii. Find "r" .when: {=52em , 8= 450 ,15&;3; T
H . 0. O ' 1" . gﬂ g ' 0’( 0 ..
. Write 47.36" into D”, M' and S" form. -&Z S sIM DY 47.36 i

iv. Whether the triangle with sides 8cm, 15cm and 17¢m is acute LMo Nl Tl 15 BL L s iy

obtuce or rightangled? PICH P P
v. Define circle. _ _a_ig/‘f&;u v
vi, Define secant line. _4‘:@/‘7&55’5‘ Vi
ii. Define circumference of a circle. _&:Eié)/;d/_&f%}b Vi
iii. Define Circum angle. _&_-5:,9/7&_,:!;5/!5 viii
ix. Define the inscribed circle. _é..v A
Section -II (922
~Note: Attempt three questions in all while Q:No.9 is compulsory: 8x3=24 _<_(§;19 /J!y,ﬁu/ ez =i )
33
(a) Solve the equation by completing square method. X +1 7X+~£-I— =0 d.’;a"c’/ s Sl G 3y B
(b) 12 B are the roots of the equation x> —7x+9=0 : &f?q;u%;L X’ =7x+9=0cim-B.2 ()
form an equation whose roots are 2¢& and 28 _un2B.2a JL&U’-L{ i
Vxl +2 +4/x? -
8. (a) Solve by using theorem of Componendo-dividendo \/ 123 cffﬂ.-_.u&,_ :J/,K"(-‘Jf) .6
{b) Resolve into partial fractions: (x—l}(x+2) _-..u:/(‘_}ilfuf;/d:z ()
7. (a) IfA=(1,35,7,9},B=(1,4,7,10) and U={1,2.3.....__ 10}, IB=(1,4,7,10)A={1,3,5,7,9).71 () .7
then prove that: (AU B)' s 49FY B :fa:{h:f_#:',:’yrur{1,2,3_..,,...,10}
(b) Find standard deviation from the given data. 938898918 /Al iy s, (&)
., {a) Provetnat (cot9+cosec6’)(tan6’—sim9) =secf —cosd S Sk (L) 8

(b) Inscribe a circle in an equilateral triangle ABC with each side LGS b1 ABCzLL g (o)

of length 5em. ’ »:-‘f%?b@i:
Prove that two chords of a circle are congruent then they wili be e ZrodunEmd o S &E{-‘/-E .9
equidistant from the centre.  OR L Lol

sProve that any two angles in the same segment of a circle are equal, G Lsitle s O en 228G TR sl (EE et

20-010-A- /QLUP- 0 —2—/ 8§



